1

90 "£0, 2VS )
7 — 1i1ad Bys U, dr 3 0, 5
L\W**x*?* BERUETES NOILO3rOdd TIONV-PIE HE= 11770 io0t OS5 o Eh s e 18 RS By 0 pcnrars 2 o0 e e B iy el
swisiRE E CEATHER N2 LX) GNENHTHWEL YL LHIEEHO Y2
- _a:&%mn. SIRSHELVEHCIRTE > R EHOREORRAGR 2B AL ETORNUMEN I LEIIEREN T S EHO D
DRIMVED 3NIUD e
ot i3

sinanes Eid

EADEdAY REHC

mXam; yaz0-%3%-Uhl-gaH

HE
asn TH JATVA TTOYINOD TTYNO11O3YI0 (31VH340 GIONTI0S
HEHOELER
0N W3S S “ON 300K MEAE . wvN 4 S
“sissay
S B ] wmolsny YRS
NOYIdHASND) ¥KI0d
8 R ¥ g
. SERY BHLQI0H |
2% L Ul TEHY
29Y1704 031NN
res0 w Ty g2
G-20-520-CH1S ﬁ:_,mm

. — I9RYY 39VLI0A
%01 BUSLDE

QILSTHILIVYYHD QION3I0S
BHd rrac

SSVR
ZE

II¥148ns ONILNNON
A-1LCAHGEHY

INIRHOVILY
BEY

3¥NSS3I¥d HO¥E 3ITBYMOITY
HES#

#0714 031vd
BN

HOT4 RAATXYH
L(E EY¥YE

JENSSIUA INTNYOM RONTXVH
CHHHEE

L1109¥19 91 TRYBOAR GN¥ 2dAL IAWVA IHL Rodn
INZON2430 LNI¥IIIQ ST MOVS WNHIXVR

SEAYENTIRSHENNBUNTEYE "L (¥

L{ECN

(L°16)

(5708}

G Ge-p

S¥

[« gdv — __|
R a 3
| — — )
J - . =t
I = H —— [
‘\l‘lll ——— V — -} B
e !
— N — — o
79108 m h E 705
[ |
= | | - .
| L 1 1H
[543 \
G1ON3T0S JAOW3Y Ol QG3¥1N03Y¥ IONVHVITD 016~08 —
REEEA S ran 4ILINYIQ ¥3LNO 318YD
BUBHE
NOILO3NNOI LINGNDD 1¥21¥19313
1184 oBERu
= €9 18
5o of
7°0¢
ELREEEY sz
A0 6dVi-10778 m_ﬁ%w e
_| Y N 7
= R\ ,MA._T,\_ YW T 1
——t — g \ v 1
21, s ) 0 IRITR
o U T é|ﬂ+¢.ﬁ4\n|\ SO —
e |= /5 J\V
- \)) A |
= N f: T

S0




*

EXTERNAL DIMENSIONS

® SIZE 025 SERIES

SPRING CENTERED TYPE ~ ORING 4is B2401-18 P9

CLEARANCE REQUIRED TO REMOVE SOLENOID
2

. MANUAL OPERATION HOLE
DETENT TYPE / POWER PILOT LAMP
w —~ 18
wi o
SR — g O =
X () | ——— 5
v - ® %J
w
: 127 25
215) £
30.2 92
125 405
ez ® e SPRING OFFSET TYPE
CLEARANCE REQUIRED TO REMOVE SOLENOID CLEARANCE REQUIRED TO REMOVE SOLENOID
381 237
2444 169
5 987 {15) . ] , (1(5'3”2
4-PIN
4—49 (M12 4-PIN 4—49
{ CONNECTOR) —1 l I~ CONNECTOR)
A T | T § T=1 i
1
SOLa nl T SOLb SOLa i
‘[_ _l eed TS I . *‘1, . | ;_‘.1]1 )
- - h k= = S - q I
- = T =i » e - g == T 7
J aj ) {(AED) | 1)2 . a;l :LI =i
Al 4455 1. 4955
@ SIZE 03 SERIES
. - L
SPRING CEA/CE’E'&D TY7£ O-RING 4-JIS B2401-1B P12
DETENT TYPE
'POWER PILOT LAVP MANUAL OPERATION HOLE 30 2 g
= = -e-
3 =% A
Al
< | [ L PRGN ¥
-‘ = 1
i r-\l\ \W‘:\\tnv‘g\
= \J
32 37
16.7 89
27 l 1085
37.3 (): Indicates the size of HD3S (M#6).
50.8
14 54
95 82 95

SPRING OFFSET TYPE

CLEARANCE REQUIRED TO REMOVE SOLENQID

285.5

272

(WHEN M12 4-PIN 94 5

CONNECTOR IS | ‘

USED)

Ty
— ‘J"'j_' |; I -

A— 1] r
fE==t=!
T T t:ﬁ
s ] ) /——

190.5

(WHEN M12 4-PIN

CONNECTOR IS
USED)

____.\:_;

o tad

i

ey

i

!
|

-l?Jil_HﬁJ:

| l

T
=

it
[N
T

i

TAPBT
e ]

1 l

99




WIRING METHODS

When attaching a lid after connecting cables, be sure to attach it correctly.

Terminal Box Terminal Box
Power terminal [SOL a] (M3) [TOP]
Power terminal [SOL b] (M3)
Lamp [SOL aj Lamp [SOL b]
r@\ — q} O & & rY
o —_
"8' e} >@ _@Iﬂ@ (Yo) o) 8 —_—
K] A h = R2 R1
& = © - W soL
o | sola S0L % SoL| —~ sol b e —_ i 5
_g =~ > é [a] (93]
<3 N2 B E L
a O lo o] O
~ @ O - .
e @
w Short-circuit jumper
Grounding terminal (M3) Power common terminals (M3) [BOTTOM]
Power terminal [SOL a] (M3) [TOP]
Lamp [SOL a] té fe -
'_
g ———i
) B R
9]
5 © 2 A
Q
sola % L
I3 [}
= = O *
(%) [@) ]
e
=
Grounding terminal (M3) Power commeon terminals (M3) [BOTTOM]
M12 4-pin Connector Pin Configuration
h ant
///;1 \ 1. 24 VDC
P 3 2: SOLb
30V
4: SOL a

Connector Wiring Drawing

‘When connecting a device: Load side -COM

When connecting a device: Load side +COM

4 A4
Output unit
COM —
! l [—-——1’6‘ SOL 51)_—‘
: SOL H
H—& |

A4
Qutput unit
COoM -
”_______<’J—a SOL —®—}>_4
@A

98




MOUNTING BOLTS

Mounting bolts are not supplied with valves and should be ordered separately.
Since the mounting bolt seat height of new type valves differs from that of conventional valves, please order the adjusting collars or mounting

bolts for a new type valve when replacing a valve in a circuit where stack valves are used.
For the 03B series with M6 type mounting bolts, please order the mounting bolts for a new type valve.

NeW MoDEL OLD MODEL.
COLLAR
; [FOR REPLACING CONVENTIONAL VALVE |
- ) Collar Model
Unit: mm 025: HH-00200 (4 bolts)
03:  HH-00271 (4 bolts)
| __‘ Series X L
0258 8 |, 22
1] > 038 | 10 | 30

0258 Series Mounting Bolts for the HY-TEGRA System

® Hexagon socket head bolt @ Stud bolt
No. of Stack Levels Bolt Type No. of Stack Levels Bolt Type
1 JIS B 1176 M5 x 30 1 —
HKS-NA-5 x 65 HKS-NC-5 x 71

HKS-NA-5 x 100

HKS-NC-5 x 106

HKS-NA-5 x 135

HKS-NC-5 x 141

2
3
4
5

HKS-NA-5 x 170

albhiw|N

HKS-NC-5 x 176

03B Series Mounting Bolts for the HY-TEGRA System
e M6 hexagon socket head bolt

® M6 stud bolt

No. of Stack Levels Bolt Type No. of Stack Levels Bolt Type
1 JIS B 1176 M6 x 40 1 —
HKS-NA-8 x 95 HKS-NC-8 x 106

HKS-NA-6 x 150

HKS-NC-6 x 161

HKS-NA-6 x 205

HKS-NC-6 x 216

2
3
4
5

HKS-NA-6 x 260

2
3
4
5

HKS-NC-6 x 271

& M8 hexagon socket head bolt

® M8 stud bolt

No. of Stack Levels Bolt Type No. of Stack Levels Bolt Type
1 JIS B 1176 M8 x 40 1 —
2 HKS-NA-8 x 95 2 HKS-NC-8 x 106
3 HKS-NA-8 x 150 3 HKS-NC-8 x 161
4 HKS-NA-8 x 205 4 HKS-NC-8 x 216
5 HKS-NA-8 x 260 5 HKS-NC-8 x 271

NOTE 1: Use mounting bolts of the strength category class 12.9.

NOTE 2: Stud bolts are supplied with nuts.
NOTE 3: If an M6 type solenoid valve is used for the 03B series, also use an M6 type (H*3HS) HY-TEGRA valve.

COMPATIBILITY WITH STANDARDS

o CE

All types of valves in the catalogs conform to “CE marking” directives.
Directive: 73/23EEC, 93/68/EEC Low Voltage Directive (VDE 0580:200)

e UL

Please consult us.

® CCC

Not compatible as of April of'2004.

101



